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Candidates are required to give their answers in their own words as far as practicable

NG AT 24907 [

Group — A
w(5% Twaft fofere o

=5 Roretera i @ 9o iz A T2 4 @2 10 T AT =iz 2ca o
(A)2.5  (B)04 ©s (D) 1.251

FAICs efve SRR
88, 72, 33, 29, 70, 86, 54
YU 59AT 8 GO HYAF T JAIGH 3
(A) 33, 86 (B) 32,84 (C) 33,76 (D) 32,861

X GR y 5 G0 y = 12 — 5x F1EYe, 2 x-92 79 A9 7 7, O y-a7 R A9 T
(A) 47 (B)35  (C)-35 (D) -231

(SAF = 60% 93 (SW = 36 Z0eT, (Tfors sfe za ¢

(A) 10 (B) 16 (C) 15 (D) 121

fAfeTire w% (0 x -9 3.5 W 97 &=y y-97 W fefa a0
> SUb U | ie i uneteAdadc
y 2 10 28 56 94

(A) T WSl s et syl ety

(B) TSGR »i*51ea8t Sz ez >yt airaren

(C) @ wrgew fiefa saef ey w

(D) % (@ @1 @A e 57 earey |

2012-2013 11 =516 Gerets =g Rifew ive s @it Sreta e e e ¢

Rersl 2012 2013

@R 10 15

GTH 30 25

[ 5 )
Ttz AfRre2be 92 wigx How weofty o= ¢

IX30

v




w2013 1

2013 “ fuie W 1 = 2012 {
e |

é
i
l o 20 40 ‘
1 N D J

7. I AR Rt G «AfReRana iR e s e @i JEE 10 i Ree w0 2
(A)seess  (B)WHW (O)wEE (D) 59T |

8. Wt w5 I 60 % FIH T 40 77 w1 5T e RS AReear Rerarm @@ o 2=
(A) 4 (B) 20 © 12 (D) 81

L o Rors s e ved whm g 79w 5 <3 41, Reremivn Srpel ¢ Shwor e 2@
(A) -1.36, SfSerF  (B) 1.64, 5wors (C) 1.64, wfsSrE (D) —1.36, S=orF |

10. 1 G=fb S fi(x) 47 W TR REA WM 2 £(0) = 1, (1) + f(2) = 10, £(3) + £(4) + f(5) = 65 I'S1Z( f(4) 9T LA ¢
(A) 7 (B) 13 © 21 (D) 311

c

Group - B
3% Teals fifers w2 gxe

1. @ @36 ReTetam S, sikanese @) dfetaay saE JAE 17.4, 15.3 @R 0.35 Z(& (ST WA I 8
(A) 50.12% (B) 45% (C) 40% (D) 48.78% |

2. [RALYE e e 3 Arel FR Ay ewe Tz (A0 £(7) -aq N EE ¢
x : 2 4 6 8
Ry ssiragesig 0 Sy
(A)45.125  (B)40.875  (C)48.125 (D) 46.8751

ﬁ'_x;. 2016 AT =Ml AeeTa Fie i «Ai2fbras My [t (rem 21 ¢

% FRAAG B 8100 T 21, ST 51T BAT (B1a7) S Z0A G 51 BATA () BeT BRAMGAR (A0 0 sl (9 23 2

(A) 900 92 140% (B) 800 «@=2 120% (C) 700 @32 150% (D) 900 €= 150% |
4. TS s ferees sym Ti9 28 1 a- @I T3 2
TN (%) : 10-20 20-30 30-40 40-50
PIRAMA 7 : 3 20 12 a
AT (B) 3 ©) 4 D)21

[Turn Over)



4
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The figures in the margin indicate Sull marks

Group — A
Choose the correct answer 2x10

If the second and third central moments of a distribution are 4 and 10, then the skewness of the distribution is :
(A) 2.5 (B) 0.4 )5 (D) 1.25.

The first quartile and third quartile of the following numbers :
88, 72, 33, 29, 70, 86, 54 arc respectively
(A) 33, 86 (B) 32, 84 (©) 33,76 (D) 32, 86. f

Two variables x and y are related by y =12 —5x. If the S. D. of x is 7, then the S. D. of yis: ¢
(A) 47 (B) 35 (C)-35 (D) -23.

If C.V. = 60% and variance = 36, then the mean is -
(A) 10 (B) 16 ©) 15 (D) 12.

From the following table the value of y can be determined for the value of x = 3.5 by using
X @0 Sisssiims =4
y 2 10 28 56 94

(A) Newton's forward interpolation formula

(B) Newton's backward interpolation formula

(C) None of the stated two interpolation formula
(D) Any one of the two stated interpolation formula.

During the year 2012-2013 the income (in crores) of a railway company of different sections is as follows :

Section 2012 2013

Coaching 10 I3

Goods 30 725 It
Others 5 2 5

The component bar chart for the above data is :
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7. Which of the following divide a group of data into ten equal subgroups ?

(A) Percentiles (B) Median (C) Deciles (D) Quartiles.
8. The Largest value is 60 and the smallest value is 40 and number of classes desired is 5 then the length of the class
interval is :
(A)4 (B) 20 © 12 D) 8.

©¥° 9. The second and fourth order central moments of a distribution are 5 and 41 respectively. The co-efficient of
kurtosis and the nature of kurtosis are :

(A) —-1.36, leptokurtic (B) 1.64, mesokurtic
(C) 1.64, leptokurtic (D) —1.36, platy kurtic.
10. The values of a functions f(x) are given :
f(0) = 1, f(1) + f(2) = 10, f(3) + f(4) + f(5) = 65.
Then the value of f(4) will be :
(A)7 (B) 13 (C) 21 (D) 31.

Group - B
Choose the correct answer 4%5

1. The median, mode and coefficient of skewness for a certain distribution are respectively 17.4, 15.3 and 0.35. The
coefficient of variation is :

& (A) 50.12% (B) 45% (C) 40% (D) 48.78%.
2. Using suitable interpolation formula the value of f(7) from the following values is :

X -2 -2 4 6 8
fezy: 5 18 36 59

(A) 45.125 (B) 40.875 (C) 48.125 (D) 46.875.

3. The following Pie-chart shows the annual agricultural yield of Punjab State for the year 2016 :

Others
140°

If the total yield is 8100 tons, how much will be the yield of rice (in ton) and by how much percentage the yield of
wheat will exceed the yield of rice ?

(A) 900 and 140% (B) 800 and 120% (C) 700 and 150% (D) 900 and 150%.
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The median of the following frequency distribution is known to be 28. The value of a is :

Dividend (%) : 10-20 20-30 30-40 40-50
No of Companies : 3 20 12 a
A7 (B)3 © 4 D) 2.

The S. D. of the given data : 49, 63, 46, 59, 65, 52, 60, 54 is:

(A) 6.36 (B) 6.21 (C) 6.29 (D) 6.12.




